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1. If North-east becomes West and South-East becomes North, then what will West
become?
(a) South-east (b) North-east (c) South (d) North-west

2. If METER is coded as 1, how KNIFE will be coded?
(a)-13 (b) -14 (c) 13 (d) 14

3. Heena has two sisters, Yogita and Zoya. Meena's mother is sister of Yogita's father. What
relation Meena has with Zoya?
(a) Brother (b) Sister (c) Aunt (d) Cousin

4. What will be the difference of angles of minute and second hands of a clock when the
time is 8:30?
(a) 60 (b) 75 (c) 80 (d) 85

5. If an item is sold for Rs. 832, then profit is equal to loss incurred when the same item is
sold for Rs. 448. What should be the sale price for making 50% profit?
(a) 960 (b) 970 (c) 980 (d) 990

6. Given the following equation.

7A4B8C2=24

Which operator set from following will fit in the above equation?
(a)A=%x,B=-,C=/ (b)A=—,B=/,C=+
(c)A=/,B=X%,C=+ (d)A=+B=/,C=X
Where X means multiply, - means minus and / means divide.

7. Find the odd one from the following.
(a) PC (b) JE (c) NH (d) PH

8. Pran and Khan start from their office and walk in opposite direction. Each travels 10 km.
Pran then turns left and walks 10 km. While Khan turns right and walks 10 km. How far they
are now from each other?

(a) 0 km (b) 10 km (c) 20 km (d) 28 km

9. A tank contains 20,000 litres of water. If it decreases at the rate of 10% a day, what will be
the quantity of water after 4 days?
(a) 13122 (b) 14580 (c) 15000 (d) 15580

10. Mash: Horse :: Mast:?
(a) Pig (b) Chimpanzee (c) Cow (d) Monkey
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11. What will come in place of question mark () in the series given below ?
14, 25,47, 91, ?, 355
(a) 100 (b) 155 (c) 179 (d) 196

12. What was the day of the week on 28th May, 2006?

(a) Friday (b) Saturday (c) Sunday (d) Monday
13. Find the wrong term in the following series.

MDH, NEE, OAC, PED, QBE

(a) MDH (b) NFE (c) OHC (d) PED

14. What will come in place of question mark (?) in the following table?

18 | 27 | 38
83 ? 51
102 | 123 | 146
(a) 56 (b) 66 (c) 70 (d) 76

15. Ravi ranks 13t a class of 35 students. There are 5 students below Sameer rank wise.
How many students are there between Ravi and Sameer?
(a) 14 (b) 15 (c) 16 (d) 17

16. Two numbers are in the ratio of 15:11. If HCF of these numbers is 13, find the numbers.
(a) 185,153 (b) 195, 153 (c) 195,143 (d) 185, 143

17. Consider the following series of images.
Which image from followings will come next?
(@) A (b)B (c)C (d)D

18. A and B can together finish a work in 30 days. They worked together for 20 days and
then B left. After another 20 days, A finished the remaining work. In how many days A alone
can finish the work?

(a) 45 (b) 50 (c) 54 (d) 60

19. A 50 metres long train passes a platform of 100 metres long in 10 seconds. The speed of
the train is km/hr.
(a) 55 (b) 54 (c) 56 (d) 57

20. Assume that today is Monday. What will be the day after 82 days?
(a) Thursday (b) Friday (c) Saturday (d) Sunday
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21. What will come in place of question mark (?) in the series given below?
4,75, 136, 186, 224, ?
(a) 247 (b) 248 (c) 249 (d) 250

22. Find the odd one from the following
(a) Banana (b) Grapes (c) Orange (d) Mango

23. If the amounts for a fixed principal after 3 and 2 years at a certain rate of compound
interest are in the ratio 21: 20, what will be the rate of interest?
(a)4 (b) 5 (c)5 (d) 7

24. Rearrange the letters of each of the following words in order to form meaningful word
and find the odd one out.
(a) RUMTCPEO (b) OAPPTL (c) NTVIESILOE (d) EKCCAENL

25. Ratio of present ages of Pankaj and Qasim is 2:3. After 6 years, ratio of their ages is 3:4.
Find the present age of Pankaj.
(@) 9 (b) 10 (c)11 (d)12

Do the question number 26 to 28 as directed.

The following table show the sale of batteries sold by a company over the years.
Year | Batteries types in AH
4 7 | 32 ] 35
2015 | 100 | 60 | 120 150
2016 | 120 | 100 | 123 | 135
2017 | 113 | 110 | 110 | 126
2018 | 122 | 134 | 178 | 120
2019 | 130 | 150 | 200 | 180

26. In which of the following years, the percentage of Battery of type 4 AH sold to the total
number of batteries sold in that year is maximum?
(a) 2015 (b) 2016 (c) 2017 (d) 2018

27. Which of the following batteries has maximum total sale for all the years?
(a) 4 AH (b) 7 AH (c) 32 AH (d) 35 AH

28. What is the percentage of increase in sale in battery of 35 AH in 2019 as compared to
that of 2015?
(a) 10 (b) 15 (c) 20 (d) 25
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29. The ratio of the number of boys and girls in a college is 7:8. If the percentage increase in
the number of boys and girls be 20% and 10% respectively, what will be the new ratio?
(a) 1:5 (b) 5:7 (c) 11:14 (d) 21:22

30. Kamla could not decide between discount of 35% or two successive discounts of 307 and
5%, both given on shopping of 5,0000. What is the difference between both the discounts ?
(a) 70 (b) 75 (c) 80 (d) 85

31. JIHH TR T frig wiugt & 293 wivg © U9 R i3t Ae J €9....... Ta

(C)ISACAS (b)g,9, <€ (€d,e3 (d e 3,

32. I& i T S AT HET ge
(a) =IF-f3g (b) SIt-THHE (c) FO-85 (d) YH-H=St

33. Jo i &5 fagg™ uzaie & fam odt I?
(a) YIY To (b) fore T (c) YHS T8 (d) < T O

3L, 96 i 89 fdazT 39 Age I?
(a) 87 (b) 3 (c) $'g (d) g

35. & &3 &9 faaz was st fanias &t 3?2
(a) ™ (b) ()= (d) €

36. ‘59 Iot 93 I 96’ 9 &g II3" fda3T A9 I?
(a) It (b) B (c) II (d) 83

37. R &<t fam 39F T afe I?
(a) THZ T (b) ¥H (c) ™M™ (d) ffars =g

38. ‘Bd-9d I AE” YIS T St wigH J?
(a) ST IAE (b)) gAIET (c) TR & I=r (d) & & I
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39, I& i3 BI1 W3 BIryTgt i@ BT TA

da&r, frarat, o, fadt, st
(a) &, TS, W3 & BESALGEGCIRIEALCE
(c) S w3 fadt (d) &<, st w3 fit

LO. Hfeng, OH3ad W3 ©3d mee Ko fUg33 fagzr J»
(a) g (b) Wrg (c) I (d) It < &I

L1, UrArst TdoH®T €9 fdé feanirs widg Je I&?
(a) 36 (b) 37 (c) 38 (d) 39

L2, fgg3 Aege ‘Tl HET T AHGIE &4t J
(a) Ut (b) HS (c) &" (d) BT

43. 9% f&d& 33F 8 Ie I&°?
(a) 1 (b) 2 (c) 3 (d) &

L. IS fafamr 9 fagzr Uarst © vy 39 3 fenrage T 341 &t 3?2
(a) FEE-5T (b) WIE-8T (c) TI-8T (d) feuit-sg

L5, ‘Higr gihvs & = Ko gdHs &t I?
(a) fenme Ase (b) < HET (c) U< HET (d) fIam FeEe

46. Consider the following active/passive sentence.
Thick clouds have overcast the sky.

(a) The sky has been overcast by thick clouds.

(b) The sky overcast by thick clouds.

(c)The sky is overcast by thick clouds.

(d) The sky is being overcast by thick clouds.

47. Complete the following sentence.

Father didn't know

(a) What | mean (b) What did | mean
(c) What did | meant (d) What | meant
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48. Find the antonym of word 'colossal’.
(a) Enormous (b) Immense (c) Mammoth (d) Trivia

49. Select the option that best expresses the meaning of capitalized idiom/phrase in the
following sentence.

Adolescence is a period of HALCYON DAYS.

(a) Hard days (b) Mental Pressure (c) Happy days (d) Days of preparation

50. In sentences/paragraph given below, line number 1 and 6 are first and last part of the
sentence/paragraph. The remaining lines are numbered P, Q R and S, which are not in
proper order. Read the sentence/paragraph and find out which of the four combinations is
correct.

(1) Climate change due

(P) to rice production

(Q) causing changes in rainfall

(R) is the new challenge

(S) to global warming

(6) and a matter of concern for agrarian societies

(a)SPQR (b)RQSP (c)SQRP (d)PSQR

51. Find which part of the following sentence has an error.

No sooner they had received the guests than they began entertaining them.
(a) No sooner (b) They had received the guests
(c) Began entertaining them (d) No error

52. Find the word or phrase which is closest in meaning to the capitalized word or phrase in
the following sentence.

A man who is FRAGILE can easily be disturbed by other.

(a) Delicate and sensitive (b) Unknown

(c) Intelligent (d) Foolish and non-sense

In the following paragraph question numbers are given in between sentences. Read the
paragraph and select the appropriate option from the respective question number (Q. No.
53 to Q. No.54 that makes the sentence/ paragraph meaningful.

Gandhiji (53) to Molihari (54) capital of Champaran. He (55) by several lawyers. On railway
station, a large crowd greeted him.

53. Options are:
(a) proceed (b) will proceed (c) proceeded (d) has proceeded
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54. Options are:
(a) an (b) (c) the (d) its

55. Options are

(a) was accompanied (b) accompanied

(c) has been accompanied (d) has been accompanying
56. There isn't milk at home. Why do not you buy some?

(a) some (b) little (c) any (d) many

57. A person, who pretends to have more knowledge or skill than he really "has, is called
(a) Crook (b) Apotheosis (c) Renegade (d) Charlatan

58. Which of the following is correctly spelt?
(a) Exilarate (b) Exhierate (c) Exsilarate (d) Exhilarate

59. Which of the following is type of gender of the word 'singer’?
(a) Feminine (b) Masculine (c) Common (d) Neuter

60. Complete the following sentence.
There are five on the desk.

(a) Book (b) Pencil (c) Pencils (d) Apple

61. What will be the output of MS-Excel function "=SUMSQ(4,5,10)’?
(a) 6 (b) 19 (c)90 (d) 141

62. Gurdwara Mal Akhara Sahib is known for family home of

(a) Guru Angad Dev Ji (b) Guru Amar Das Ji

(c) Guru Nanak Dev Ji (d) Guru Gobind Singh Ji

63. Baba Gurdit Singh of Komagata Maru was born in ........ district of Punjab.
(a) Jalandhar (b) Ludhiana (c) Patiala (d) Amritsar

64. First India Nuclear Plant is situated in ...... state.
(a) Maharashtra (b) Punjab (c) Haryana  (d) Gujrat

65. Which of the following is called Father of Personal Computer?
(a) Edward Robert (b) Allen Turing
(c) Charles Babbage (d) Sabeer Bhatia

66. After defeat in a war, Humayun run away from India. Who defeated him?
(a) lbrahim Lodhi (b) Sher Shah Suri (c) Bahadur Shah (d) Akbar
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67. Which of the following features of MS-PowerPoint is used to apply motion effects to
different objects of a slide?

(a) Slide transition (b) Slide design

(c) Animation Scheme (d) None of the above

68. What is a light pen?
(a) A Mechanical input device (b) Optical input device
(c) Electronic input device (d) Optical output device

69. What is the name of Bhakti Saint who believed that through love, devotion, song and
dance, a devotee can feel the presence of God ?
(a) Kabir (b) Chaitanya (c) Tukaram (d) Tulsidas

70. Full form of ASCll is

(a) American Stable Code for International Interchange
(b) American Standard Case for Institutional Interchange
(c) American Standard Code for Information Interchange
(d) American Standard Code for Interchange Information

71. Who among the following is first Lokpal of Punjab ?
(a) S S Sodhi (b) Ram Pal (c) Kiran Bedi (d) Kapur Singh

72 Which of the following is not part of Majha region of Punjab ?
(a) Gurdaspur (b) Pathankot (c) Amritsar (d) Ludhiana

73.Which of the following is National Tree of India ?
(a) Banyan Tree (b) Peepal Tree (c) Neem Tree (d) Ashoka Tree

74. Madan Mohan Malaviya published his famous newspaper, The Leader, from
(a) Aligarh (b) Allahabad (c) New Delhi (d) Lucknow

75. Which of the following years was part of 'Plan Holiday' period in India ?
(a) 1955-56 (b) 1964-65 (c) 1967-68 (d) 1970-72

76. Which of the following shortcut keys is used to check spellings in a document
(a) F7 (b) Shift+F7 (c) Ctrl+F7 (d) Alt+F7

77. Jhumar dance is popular in which of the following region?

(a) Malwa (b) Rajasthan (c) Sandar Bar (d) Majha
78. Guru Arjan Dev Ji was born in city
(a) Lahore (b) Multan (c) Goindwal Sahib  (d) Amritsar
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79. Arrange the following Chief Ministers of Punjab in chronological order.
(1) Zail Singh

(2) Darbara Singh

(3) Gopi Chand Bhargava

(4) Lachhman Singh Gill

(@) (3),(4),(1),(2)  (b)(4),(2),(2),(3)  (c)(3),(4),(2), (1)  (d)(4),(1),(3)(2)

80. Who among the followings captured and executed Banda Bahadur, a Sikh warrior ?
(a) Bahadur Shah (b) Aurangzeb (c) Jahangir Shah (d) Farrukh Siyar

81. In which of the following years, Rabindranath Tagore got Knighthood ?
(a) 1910 (b) 1912 (c) 1915 (d) 1917

82. Who started new religion, "Din-i-illahi”?

(a) Akbar (b) Shahjahan (c) Sher Shah Suri (d) Jahangir

83. is first engineering college of India in British Empire.

(a) PEC Chandigarh (b) IT Roorkee

(c) IT Madras (d) Banaras Engineering College

84. Second Battle of Panipat was fought between Hindu King and Mughals
under .

(a) Hemu, Akbar (b) Babur, Ibrahim Lodhi

(c) Maratha, Ahmed Shah (d) Hemu, Ibrahim Lodhi

85. Chand Bibi was ruler of
(a) Bijapur (b) Satara (c) Patiala (d) Ahmednagar

86. Which of the following shortcut keys is used to start the slideshow ?
(@) F5 (b) F6 (c) F7 (d) F8

87. Which symbol is used for absolute reference in MS-Excel?
(@s (b) # (c) % (d) &

88. Which of the following is not anti-virus software?
(a) SQL Server (b) Quick Heal (c) F-Prot (d) McAfee

89. Which of the following key combination is used to insert a new page in MS-Word ?
(a) Ctrl + Break (b) Ctrl + Insert (c) Ctrl + M (d) Ctrl+ Enter
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90. Full form of ALU is
(a) Array Logic Unit (b) Application Logic Unit
(c) Arithmetic Logic Unit (d) Applied Logic Unit

91. Who among the following has written satirical Hindi Novel, '‘Raag Darbar?
(a) Uma Das (b) Anita Desai (c) Sri Lal Sukla (d) Mulk Raj Anand

92. Which of the following is not part of slide design?
(a) Design template (b) Colour scheme
(c) Animation scheme (d) All are part of slide design

93. What was the name of first film to win the Filmfare Best Film Award in India?
(a) Boot Polish (b) Shree 420 (c) Do Bigha Zameen (d) Tezab

94. In which of the following fair, donkeys are specially decorated?
(a) Jarag da mela (b) Roshni mela (c) Kurali mela (d) None of the above

95. What is the purpose of VLOOKUP function in MS-Excel?
(a) It searches for character of 'V’

(b) It finds the related records

(C) It checks whether two cells have the same values

(d) None of the above

96. In which of the lowing cities of Punjab, Guru Gobind Singh Refinery situated?
(a) Barnala (b) Bathinda (C)Sangrur (d) Patiala

97. Portrait and landscape in MS-Word are part of..............
(a) Page layout (b) Mail merge (c) References (d) Design

98. MS-Outlook is a/an
(a) Word processing software (b) Spreadsheet software
(c) Presentation software (d) Email software

99. Who among the following formed party named as 'Forward Bloc'?
(a) Sardar Bhagat Singh (b) Chandrashekhar Azad
(c) Subhash Chandra Bose (d) Madan Mohan Malaviya

100. First Air Taxi service in India started from Chandigarh to
(b) Delhi (a) Amritsar (c) Hisar (d) Karnal

101. In which of the following towns Guru Arjan Dev Ji built Baoli?
(a) Sialkot (b) Lahore (c) Multan (d) Amritsar
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102. In which of the following network topologies, all the nodes are connected directly to a
central server?
(a) Star (b) Bus (c) Ring (d) Mesh

103. Which of the following region of Punjab does not come under rivers, Ravi and Beas?
(a) Majha (b) Malwa (c) Doaba (d) Pothohar

104. Indian revolutionary, Rajguru, was from which of the following state of India?

(a) Punjab (b) Uttar Pradesh (c) Madhya Pradesh (d) Maharashtra
105. Bhagat Puran Singh, who established Pingalwara, died in year.
(a) 1990 (b) 1991 (c) 1992 (d) 1993

106. Which of the following controls the process of interaction between the user and the
operating system?
(a) User interface (b) Language translator (c) Platform  (d) Screen saver

107. Who among the following was first Chief Minister of PEPSU ?
(a) Gopi Chand Bhargava (b) Ranveer Singh
(c) Gian Singh Rarewala (d) MLTrivedi

108. Which of the following is not part of page margin?
(a) Right (b) Left (c) Centre (d) Top

109. Which of the following is non-volatile storage?
(a) Cache (b) Primary (c)Secondary
(d) All are non-volatile storages

110. Who founded city of Shri Anadpur Sahib in Punjab?
(a) Guru Gobind Singh Jji (b) Guru Teg Bahadur Ji
(c) Guru Nanak Dev Ji (d) Guru Angad Dev Ji

111. Which of the following is not composition of Saint Kabir?
(a) Sakhi Granth (b) Anurag Sagar
(c) Bijak (d) Vairagya Sandipini

112. Which of the following was capital of Punjab after independence and before
came into existence?
(a) Amritsar (b) Patiala (c) Kangra (d) Shimla

113. The amount of vertical space between lines of text in a document is called
(a) Double-space (b) Line spacing (c)Single space (d) Vertical spacing
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114. Battle of Ferozeshah was fought in the year
(a) 1843 (b) 1844 (c) 1845 (d) 1846

115. When was Rajiv-Longowal Accord signed?
(a) 1982 (b) 1983 (c) 1984 (d) 1985

116. Who among the following was the first to make use of artillery in warfare in medieval
India?
(a) Babur (b) lbrahim Lodhi (c) Sher Shah Suri (d) Bahadur Shah

117. Which of the following mobile application has been launched by Punjab Government to
give people a digital access to the state government directory?
(a) DigiNest (b) DigiDir (c) PBNest (d) E-dakhil

118. Who was first women Chief Secretary of Punjab?
(a) Kiran Bedi (b) Vinita Rai (c) Vini Mahajan (d) Ritu Maheshwari

119. An ascetic Hindu monk and social reformer in 16th century, Chaitanya Mahaprabhu,
was from.......
(a) Bengal (b) Bihar (c) Punjab (d) Uttar Pradesh

120. What was the name of the first space shuttle on which Kalpana Chawla flew to space in
1997?
(a) Apollo (b) Columbia (c) Challenger (d) Discovery
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